Puzzler: You are given 10 stacks of 10 coins each. One of the stacks contains counterfeit coins, each of which weighs exactly
21 grams. The other nine stacks contain all genuine coins weighing exactly 20 grams.

You are given a very accurate scale to use to weigh the coins. For each weighing, you put some of the coins on the scale and
can check the reading of how much it weighs.

But -- the scale is almost out of batteries, so you want to be careful. How many weighings do you need to make in order to
accurately determine which pile is counterfeit?
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